6. feladatsor — Komplex szamok, polinomok

6.1. Feladat megoldasa.

(a) —i;

(b) —1;

(c) 41 — 114;
(d) 17 — 2i;

(e) —15— 5i;

6.2. Feladat megoldasa.

(a) z=14 —i— 3i;

(b) z=-=2— Ly

(€) z21=—2—3i, 20 =2+ 34

(d) 21272+ﬁi, 7= -2 L,
(e) 21 = —1—47,, Z9 = 1+4Z,

(f) 21 :3—22, 22:—3—|—22

6.3. Feladat megoldasa.
(a) 3=3-(cos0+i-sin0) = 3e;

(f)
(2)
(h)
(i)

(f)
(8)
(h)
(i)

Im(z)

_% +3 17 ’

il‘i‘z_gf’

10, 10,

——+ EZ

l—i:ﬂ(cos + - sm—) V2Tl
2—2\/§i:4(cos—+@ sin ) =de%
—V3—i=2(cos T +i- sm%”)—Qes
—3 4+ 3 = \/_(cosg + - sm%7T
2\/36%”
o(e)

(a)Re(2)

(b) =5=5-(cosm+i-sin 7r) = 5e™;
(c) i=cosZ+i-sin? =e?
(d) —8i=8(cos I +i-sin —) —8es
(e) \/_+\/_z—2(cos——|—1 sin Z) = 2e4’;
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6.4. Feladat megoldasa.

(a) 2(cos0+isin0) = 2; (e) cos s ZSIH7—7T =3 _ 1
(b) 3e%7 = —3i; () % = _vE 1

(c) 2 = V2 +V/2i; o i) 1 Vi
(d) V2(cos 3T +isin3T) = —1 +; (8) 2( + ) 1—/3i
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6.5. Feladat megoldasa.

(a) 8(cos 2 +i-sin &) = —8i;
(b) 20(0080 + 4 - sin 0) = 20;

(c) cosm+i-sinm = 1
(d) 267(cos 3= < + i - sin 3T ) 66\/_+266i;
(e) 26 (cos 3L + i - sin 2”) 26114

2

(f) 6'926(cos & +i-sin3) = —3- 61525+3\/_ 619254,

6.6. Feladat megoldasa.

(a) 3 =3(cos0+ isin0) —V/3—i=2(cos T +isinr)
—3 =3(cosm +isinm) (8) —2=2(cosm+isinm)
(b) 2i:2(cos—+isin2) 1+ /3i=2(cos % +isinZ)
—2i = 2(cos & + isin 2T) 1 — V/3i = 2(cos(— %) +isin(~1))
(c) 2+ 2i=cosT +isinT® (h) 2i =2 (cosZ +isinZ),
\[ fz:cos&r—{—zsm— —V3—i=2(cos T +isinTr),
(d) —2\/_+2\/_z_4(cos—+zsm?jf) V3 —i =2 (cos & + jsin LT) .
2\/_—2\/_1—4(cos——|—zsm7—”) (1) \/5\6/§+\/_\/_’L—2\/_(0081+281n2)7
(e) -1 —4i, 1+4i 2v/2 (cos IZ +isin I7) |
(f) V3+i=2(cos% +isinT) 2v/2 (cos LT + i sin 1T .

6.7. Feladat megoldasa.



(a) x1 = —i, 29 =1
2+ 1=(z+14)(xr—1)
(b) x1:—3—z, $2:—3+2
22+ 6x+10=(x+3+14)(x+3—1)
(C) T12 = —1
2?4+ 2xi — 1 = (v +1)?
(d) 21 =2, 20 =1+3i, 25 =1—/3i
P+ 8= (zx42)(z—1—3i)(z—1+3i)
(e) T12 = 0, T3 = —32, Ty = 31
zt + 922 = 2% (x + 3i)(z — 3i)
(f) 1 = —2, To = 2, To = —27,, T3 = 29
2t — 16 = (z + 2)(z — 2)(z + 24)(z — 24)
(g) T12 = —32, T34 = 3t
ot + 1822 + 81 = (z + 3i)*(z — 3i)?

6.8. Feladat megoldasa. (a) 2% (b) —a® + 8z —4; (c) —122® + 327 + B



